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Year 4 Maths Distance Teaching and Learning
Week beginning: 04.05.20
Lesson 1
Learning Intention: Key Vocabulary: What you will need:
WALT: use estimation to Estimate i to roughly A computer, tablet or phone
support calculation calculate or judge the value | for the starter
Maths book
Pencil and ruler
Video: Year 4 Maths -
Week 3 -lesson 1
Starter

Log onto Times Tables Rock Stars and complete a sound check.

Main Teaching

Todayodos |l esson will be | ooking at wusing
support your calculation skills. This we
and using a range of mental methods to help us solve calculations. Estimating makes
calculating mentally easier as less digits are involved when adding. This reduces the
chance of error. It is also useful to know an approximate answer before you try to work
out an exact answer because then you will be able to judge whether your exact answer

is within the right area.

Skills you will need to remember to help you through this session:

Round down: Round up:

1,2,3and 4 56,7,8 and 9

When rounding to the nearest ten:
- Find the multiple of ten either side of your number
- The ones are your significant column, which help you know whether to round up
or down.

When rounding to the nearest hundred:
- Find the multiple of a hundred either side of your number
- The tens are your significant column, which help you know whether to round up or
down.

When rounding to the nearest thousand:
- Find the multiple of a thousand either side of your number
- The hundreds are your significant column, which help you know whether to round
up or down.

Remember to use the approximate symbol when showing your answer (3).




Example 1
Estimate an answer to this calculation 67 + 182 =

Rounding to the nearest ten would be more appropriate and accurate as there is one
number which only has tens and ones. It also keeps the number as close to its true

value as possible. | ‘
Step 17 Round number one to the nearest ten.

67470
Step 2T Round number two to the nearest ten.

182 & 180

Step 317 Complete the calculation with both rounded amounts to find the approximate
total.

67 + 182 a4 70 + 180 SO 70 + 180 = 250

67 + 182 & 250 when rounded to the nearest ten.

Example 2:
Find an approximate answer to 834 + 4,852.

Although rounding to the nearest ten would be most accurate, it would still leave us with
a lot of digits to calculate with mentally. Therefore, rounding to the nearest hundred
would be most efficient here. . -

WEE

Step 17 Round number one to the nearest hundred.

834 4800
[&olo (] | [Qojo]

Step 27 Round number two to the nearest hundred.

4,852 & 4,900

48010 | [ 4/900]
Step 37 Complete the calculation with both rounded amounts to find the approximate
total.

834 + 4,852 & 800 + 4,900 SO 800 + 4,900 = 5,700

834 + 4,852 & 5,700 when rounded to the nearest hundred.




Example 3
Find an approximate answer to 5,382 + 2,625

Both these numbers are four-digit numbers. Although rounding to the nearest ten or
hundred would be more accurate, it would still leave us with a lot of digits to calculate
mentally. Therefore, rounding to the nearest thousand would be most efficient here.
Step 17 Round number one to the nearest thousand.

5,382 & 5,000

Step 2 T Round number two to the nearest thousand. ISR B4

2,625 a 3,000

Step 317 Complete the calculation with both rounded amounts to find the approximate
total.

5,382 +2,625 45,000 + 3,000 SO 5,000 + 3,000 = 8,000

5,382 + 2,625 a 8,000 when rounded to the nearest thousand.

SOMETHING TO REMEMBER 1 Rounding is approximate and can sometimes give us
an answer that is not as close to the ex
and 6 are still considered as not being that close to the multiple you are rounding to,
especially when using the hundreds to round to the nearest thousand! Rounding to the
nearest ten will always allow a closer answer as you are keeping the original number as
close as possible to its true value.

This may help you with your Challenge X answers!

Independent Tasks:

Please complete 1 or 2 challenges. If you are finding a challenge too tricky or too easy
after 3 questions, you should switch challenges. After you have completed your
challenge, check your answers against the mark scheme. If you got an answer wrong,
look carefully and identify where you made a mistake.
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Challenge 1
Round each of the below questions to the suggested multiple to estimate an answer.
Donét forget to follow the gsfinglansweiaa: t he
*original number 1 * + *original number 2% a
Round to the nearest ten
1) 24 +62
2) 73 +18
3) 31+89
4) 44 + 35
Round to the nearest hundred
5) 564 + 182
6) 919 + 120
7) 325 +576
Challenge 2
Round each of the below questions to the suggested multiple to estimate an answer.
Donét forget to foll ow t heyowfingl answeiiag: t he
*original number 1* + *original number .2*

Round to the nearest ten
1) 465 + 331

2) 856 + 129

Round to the nearest hundred
3) 621 + 437

4) 7,685 + 219

Round to the nearest thousand
5) 3,654 + 2,253
6) 5,962 + 2,542

7) 4,804 + 1,389




Challenge 3

Round each of the below questions to the suggested multiple to estimate an answer.
Donét forget to follow the gsfinglansweiaa: t he

*original number 1* + *original number 2*

Round to the nearest ten
1) 7,293 + 1,761

2) 3,846 + 478

Round to the nearest hundred
3) 967 + 6,432

4) 5,035+ 2,195
5) 4,526 + 1, 952

Round to the nearest thousand
6) 8,984 + 1,067

7) 2,965 + 4,555

Challenge X

1) Sarah has £70. She wants to buy some trainers for £39 and some tracksuit
bottoms for £34. Use rounding to check she has enough money.

2) Now, work out the exact amount of money Sarah needs.

3) Using question 1 and 2 as evidence, explain why, in the context of money, we
need to be careful with rounding to get an approximate answer.

Review

Find an approximate answer to 58 + 123 + 511
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Independent Tasks

Challenge 1

1)
2)
3)
4)
5)
6)

7

24 + 62 a 80 when rounded to the nearest ten

73 + 18 & 90 when rounded to the nearest ten

31 + 89 a 120 when rounded to the nearest ten

44 + 35 & 80 when rounded to the nearest ten

564 + 182 & 800 when rounded to the nearest hundred
919 + 120 & 1,000 when rounded to the nearest hundred

325 + 576 & 900 when rounded to the nearest hundred

Challenge 2

1)
2)
3)
4)
5)
6)

7

465 + 331 & 800 when rounded to the nearest ten

856 + 129 & 990 when rounded to the nearest ten

621 + 437 & 1,000 when rounded to the nearest hundred
7,685 + 219 & 7,900 when rounded to the nearest hundred
3,654 + 2,253 & 6,000 when rounded to the nearest thousand
5,962 + 2,542 & 9,000 when rounded to the nearest thousand

4,804 + 1,389 & 6,000 when rounded to the nearest thousand

Challenge 3

1)
2)
3)
4)
5)
6)

7

7,293 + 1,761 & 9,050 when rounded to the nearest ten

3,846 + 478 & 4,330 when rounded to the nearest ten

967 + 6,432 & 7,400 when rounded to the nearest hundred
5,035 + 2,195 & 7,200 when rounded to the nearest hundred
4,526 + 1, 952 a 6,500 when rounded to the nearest hundred
8, 984 + 1,067 & 10,000 when rounded to the nearest thousand

2,965 + 4,555 & 8,000 when rounded to the nearest thousand




Challenge X

1) Sarah has £70. She wants to buy some trainers for £39 and some tracksuit
bottoms for £34. Use rounding to check she has enough money.

£39 a £40
£34 4 £30

£40 + £30 = £70
£39 + £34 a £70 when rounded to the nearest ten

Sarah will have enough money.

2) Now, work out the exact amount of money Sarah needs.
£39 + £34 =£73
Sarah needs £73.

3) Using question 1 and 2 as evidence, explain why we need to be careful with
rounding to get an approximate answer in the context of money.
An answer similar to:
When using money, rounding down can get rid of money you need. If the total
rounded up amount is less than the total rounded down amount then your

estimate will not be big enough to cover the cost. Rounding all numbers up when
estimating with money will ensure you have enough.

Review

Find an approximate answer to 58 + 123 + 511.

Here, rounding each number to the nearest ten would be most effective.
58 4 60

1234120

511 4510

60 + 120 + 510 = 690

58 + 123 + 511 a 690 when rounded to the nearest ten.
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Lesson 2
Learning Intention: Key Vocabulary: What you will need:
WALTS6t hink 100 A computer, tablet or phone
10006 to add for the starter
Maths book
Pencil and ruler
Video: Year 4 Maths -
Week 3 -lesson 2
Starter

Log into Times Tables Rock Stars and complete a garage session.

Main Teaching

We are going to be using our knowledge of place value and number bonds, to help us
regroup numbers effectively for easier addition. The key facts below will help you with
todayodos | esson.

Number bonds to 10 Number bonds to 100 Number bonds to 1000
1+9 10 + 90 100 + 900
2+8 20 + 80 200 + 800
3+7 30+ 70 300 + 700
4+6 40 + 60 400 + 600
5+5 50 + 50 500 + 500

The number bonds above are key to making sure your choices when regrouping are
effective. There are many other ways to make 100 and 1000 (such as 35 + 65 and 234 +
766, respectively) however, these still rely on your knowledge of number bonds to ten as
a base.

Example 1:
How could we use regrouping to help to calculate 80 + 73?

First, look for the useful number that would be in a number bond. As we know our
number bonds to 100, we know 80 + 20 = 100. Using this
knowledge, we would want to regroup the 73 so that we Mg
could get the 20 we need. We can then complete the e LA
calculation. '

80 + 20 = 100 ]
100 + 53 = 153 |

80 + 73 =153




Example 2:
How could we use regrouping to help to calculate 319 + 4907

First, look for the useful number that would be in a number bond. As we know our

number bonds to 100, we know 90 + 10 = 100. Using this wi = | ~
knowledge, we would want to regroup the 319 so thatwe | (3—\1‘ q q‘o S
could get the 10 we need. We can then complete the .,._2* R B
calculation. (zoay lfo) BEEEE
S G R | ;
490 + 10 = 500 e
500 + 309 = 809 hqloj+[10[=]50/0
5[0/0[*[3[0[4]= 8|09
319 + 490 = 809
: 19 tla9glo|=[8 09

Example 3:
How could we use regrouping to help to calculate 700 + 5847

First, look for the useful number that would be in a number bond. As we know our
number bonds to 1,000, we know 700 + 300 = 1,000. |

Using this knowledge, we would want to regroup the 584
so that we could get the 300 we need. We can then
complete the calculation.

! | [lolod [3lo] o’:"n oo’
700 + 300 = 1,000 [ 'o'o‘o'+‘2‘&'q
1,000 + 284 = 1,284

—|z}gq

[7[0l0F] qu- I, zs‘q

700 + 584 = 1,284

Example 4:
How could we use regrouping to help to calculate 1,783 + 5,6007?

First, look for the useful number that would be in a number bond. As we know our
number bonds to 1,000, we know 600 + 400 = 1,000. S
Using this knowledge, we would want to regroup the ] @‘)"5 6_010.' j | 17
1,783 so that we could get the 400 we need. We can =it 2 6
DEoD -

then complete the calculation.

5,600 + 400 = 6,000

6,000 + 1,383 = 7,383 1 15/6/0/0/+4/0jo = 6000 |
| |&jojojoi+] 113813 1=17,3[3|3]
1,783 + 5,600 = 7,383 ‘ \

Lag[3[x5,¢/00)=]73R 3]
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Independent Tasks

Please complete 1 or 2 challenges. If you are finding a challenge too tricky or too easy
after 3 questions, you should switch challenges. After you have completed your
challenge, check your answers against the mark scheme. If you got an answer wrong,
look carefully and identify where you made a mistake.

Challenge 1

Copy out and complete the whole-part-whole diagrams to help you regroup to find the
answers to the calculations. Remember to refer back to your number bonds to help you!

Think 100: Think 100:
1)350+ 72 4)540 + 82
350 + 72 G40 + &2
5)430 + 685
2)690 + 54
, 430+ 685
620+ | g4 | M
® O ®
3)37 + 180 Think 100
@ + 150 6) 670 + 550
@ O | 670 | +550
© 0

Challenge 2
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Use think 100 to regroup a number from the calculation to help you find the answer.
1) 350 +72
2) 690 + 54

3) 1,637 +180

Use think 1,000 to regroup a number from the calculation to help you find the answer.
4) 692 + 700
5) 427 + 800
6) 1,500 + 1,756

Challenge 3
Use think 100 to regroup a number from the calculation to help you find the answer.
1) 780 + 568
2) 987 +130

3) 1,435 + 2,180

Use think 1,000 to regroup a number from the calculation to help you find the answer.
4) 4,679 + 1,600
5) 2,427 + 4,700
6) 3,500 + 1,856

Challenge X
6,600 + = 7,000 + 180
460 + = 4,000 + 260
Review

James spent 3,568 minutes doing his Maths homework throughout Year 4. He spent
4,700 minutes on his English. How many minutes did he spend in total on his
homework?
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Challenge 1




Challenge 2
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Challenge 3
LI et xus:- =1 Pl = ks [
[ [ 0 I I I1
= GinID =6 ng 9"".
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§ ]SS L o |l
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; 4olo=2,0/0/0
I =
at'Fi S9i= =il
L
[ [
[
Challenge X

6,600 + 580 = 7,000 + 180

460 + 3,800 = 4,000 + 260

James spent 3,568 minutes doing his Maths homework throughout Year 4. He spent
4,700 minutes on his English. How many minutes did he spend in total on his
homework?

3,568 + 4,700 = 8,268

James spent a total on 8,268 minutes on his homework.




W ANS@?
) R
Q

%
<, ~
Ky O

414Qy SCY\O
Lesson 3
Learning Intention: Key Vocabulary: What you will need:
WALT use equal sumasa | Equali all parts are the A computer, tablet or phone
mental strateqy same in value or size for the starter
Maths book

Sum i the amount resulting | Pencil and ruler

from the addition of Video: Year 4 Maths -

numbers Week 3 -lesson 3
Starter

Log into Times Tables Rock Stars. If a gig is available, have a go. If not, try a sound
check.

Main Teaching

Today, we are going to be learning to use a strategy called equal sum. This strategy
cannot be used efficiently with all calculations but is very useful for adapting some
calculations to make them easier. We will look at deciding when to use equal sum in
another | esson. This method requires you
6sumdb (have a |l ook in the key vocabul ary

This method allows us to change numbers in a sum in order to make the calculation
easier to work out. When changing the numbers, we must make sure that whatever
action we do to one number (for example adding to it) it must then be reflected in the
other number (subtracting the added amount from the first number from it). This will
ensure that the total amount added will remain the same.

This will make more sense throughout the following examples:

Example 1:

»@00000000— 000000 — (°7-
KN\ 10+ 6 =

»00000 00000—000000—

The first bead string is showing an original calculation of 9 + 6, which could been seen
as tricky because you would have to create a new ten and have some ones left. The
second bead string is showing an easier calculation to the same answer, after the equal
sum strategy has been applied. It is showing 10 + 6.

The idea of equal sum is to change the numbers in the calculation to easier numbers to
work with whilst ensuring you are still totalling the same amount.

In 9 + 7, we need a total of 7 to be added. In 10 + 6, it may look like we are only adding
6 but we have already added 1 to the 9 to make 10 therefore, a total of 7 has been
added but we have made the calculation easier whilst doing so.
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Letds |l ook at the steps we would take wh

Step 17 look at the numbers and decide how you want to make the numbers easier.
Then, make the change you decided on. In this case, adding 1 to the 9 would make 10,
which is an easier number to work with.

Step 2 T work out how much the remainder to add is by taking away what you added to
the other number (in this example, 1) from the second number so that the amount being
added still remains equal.

Step 3T write your new calculation out and find your total.

You would set your work out like this:

Example 2:
Use equal sum to find the answer to 38 + 6.

Remember, we want to change the numbers so that they become easier to work with.
Multiples of 10, 100 and 1000 and easier to add mentally.

Follow the same steps as above:

Step 17 look at the numbers and decide how you want to make the numbers easier.
Then, make the change you decided on. In this case, adding 2 to the 38 would make 40,
which is an easier number to work with.

Step 2 T work out how much there is left to add. In this case, you have already added 2
SO you need to take away 2 from the original amount so that the total added amount
remains equal.

Step 3T write your new calculation out and find your total.

You may choose to make the other
number easier. Such as:
Step 17 add 4 to the 6 to make 10

This would look like:

_ S 8 | } 6 :4 - & Step 21 take 4 away from the
KR, - Z \ original adding amount (381 4)
L R v j==7 \ Step 31 write your new, easier
/‘ calculation to find your total.
/ 1318]+6/=] |

- }




Example 3:

Use equal sum to work out the answer to 564 + 247

Remember to follow the same steps as example 1 to make a new calculation that is
easier. However, as the numbers get bigger, you are going to have to decide whether
you want to make the numbers easier by using a multiple of ten, hundred or thousand.

Option 1: multiple of ten
Step 17 add 6 to 564 to make 570
Step 21 take 6 away from the
original adding amount (247 - 6)
Step 3T write your new, easier
calculation to find your total.

3NN Ll
e =le] | [N |

[S—

Option 2: multiple of ten

Step 17 add 3 to 247 to make 250
Step 21 take 3 away from the
original adding amount (564 - 3)
Step 3T write your new, easier
calculation to find your total.

J : o - »

L 12
)

Option 3: multiple of a hundred
Step 17 add 36 to 564 to make 600
Step 21 take 36 away from the
original adding amount (247 - 36)
Step 3T write your new, easier
calculation to find your total.

64 13

+3 6| [-2l6

Option 4: multiple of a hundred
Step 171 add 53 to 247 to make 300
Step 21 take 53 away from the
original adding amount (564 7 53)
Step 3T write your new, easier
calculation to find your total.

slelnl+21471 =] |,
1=1513] [ HIS[3] *?3




Independent Tasks

Please complete 1 or 2 challenges. If you are finding a challenge too tricky or too easy
after 3 questions, you should switch challenges. After you have completed your
challenge, check your answers against the mark scheme. If you got an answer wrong,
look carefully and identify where you made a mistake.

Challenge 1

Show both ways of using equal sum to complete the four calculations below. Remember
to follow the steps from the examples. You will be looking to make your numbers a
multiple of ten.

Step 1T look at the numbers and decide how you want to make the numbers easier.
Then, make the change you decided on.

Step 2T work out how much left there is to add. To do this, you will need to take away
from the other number what you have already added.

Step 3T write your new calculation out and find your total.

1) 76 +7
2) 34+8
3) 83+9
4) 48 +5

Challenge 2

Use equal sum to complete the calculations below. Remember to follow the steps from
the examples.

Step 17 look at the numbers and decide how you want to make the numbers easier.
Then, make the change you decided on.

Step 2 T work out how much left there is to add. To do this, you will need to take away
from the other number what you have already added.

Step 3T write your new calculation out and find your total.

For these questions, you will be finding both ways of using equal sum by changing one
of the numbers each time to a multiple of ten.

1) 36 + 57
2) 58 + 75

For this question, you will be finding all four ways of using equal sum by changing one of
the numbers to a multiple of ten OR a multiple of a hundred each time. (This is like
example 3)

3) 126 + 389
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Challenge 3

Use equal sum to complete the calculations below. Remember to follow the steps from
the examples.

Step 17 look at the numbers and decide how you want to make the numbers easier.
Then, make the change you decided on.

Step 2T work out how much left there is to add. To do this, you will need to take away
from the other number what you have already added.

Step 3T write your new calculation out and find your total.

For each of these questions, you will be finding all four ways of using equal sum by
changing one of the numbers to a multiple of ten OR a multiple of a hundred each time.
(This is like example 3)

1) 186 + 729
2) 588 + 274
3) 263 + 375

Challenge X

Always [ Sometimes / Never - when using equal addition to solve a sum,
you always take from the smaller number and give to the bigger number.

Review

Find the error in this attempt of using equal sum.
36 +28 =

38 +30 =68
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Challenge 1

1) 83
2) 42
3) 92
4) 53
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Challenge 2

1) 93

2) 133
3) 515




Challenge 3

1) 915
2) 862
3) 638




